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| MOTOR INSURANCE
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
_compulsory. All other questions carry 12 marks each.
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. Motor Insurance is contributing around 50% of the premium income in
any insurance company as also motor claims outgo is on the increase. As
aclaim Manager, what steps you would take to bring the claim ratio under
control? ' v ' '
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- Give comments on the liability of the insurance company, giving reasons 3 each

*. and quoting conditions under the policy.

a) A person in order to board a bus wanted to place his luggage on the’
"~ top. However while climbing on the Iadder fixed to the bus, the ladder

gave way. He fell down and died. o
The owner of goods traveling in a goods vehicle along with his goods,
met with an accident. o
Liability only policy issued having premium for T.P., Owner Driver,
Driver and four passengers. The vehicle met with an accident resulting
-into death of owner Driver who was sitting beside the driver.
‘Commercial Vehicle met with an accident, fitness certificate of which
had expired one month before the accident. Surveyor has certified
that the vehicle was road worthy on the date of accident. '
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Elaborate the methods of C.TL Settlement and Cash Loss Settlerent. 1
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Expiain the ‘ru'les' genérally followed regardin'g‘: | _ | 6 e@h
~a) Transfer of Vehicle : :
b) Change of Vehicle.
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List out the various discounts‘av;ailable presently under Motor Vehicle

Insurance. Which further discounts can be made available in the de-tariff
regime? Write in detail. .
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Wite short notes on any three :- :
Body Builders' / Repairers’ cover
Limitations as to use (Private Car)
Endorsements ,
Areaof operation
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" a) Which defenses are available o rebut allegations of negligence, in 6 each

Motor Third Party Claims? . o co
~ b) Write in brief the role of Motor Accidents claims tribunals in
settlement of Motor T.P. Claims. - 4
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What aré.'the particulars generally asked for, in a Motor proposal form
used for covering private cars considering prudent underwriting norms?
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Discuss' cbverage and exclusions under own damage- section of Two
Wheeler Package Policy.
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. A goods carrying vehicle insured undera package policy dashes againsta 12
tree on a private road of 2 factory. The tree falls down and the vehicle gets
badly damaged. Calculate the claim with following particulars. -
i) Model - October 2005 '
i) Vehicle Damage :- Rs. )
Front Tyres (Total Loss) x 2 ’ - 20,000 -

Bumper 5,000
Painting (Damaged Portion) : A 7,000
Wind shield Glass 12,000
Cabin Damage - 28,000
Labour Charges . 17,000
Towing Charges . - 6,000
Claim by tree owners 25,000
Salvage : o 3,000
Assume - compulsory excess ‘ 5,000




